| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

0 ]
£
Qe
[~ o
28 S
3
o —
= O |x o
= e —
o 2
H
8
o 5 o
o 2
1 3
2 o
o E —
= [ |
! <
LD o
. S
I<) 3 )
< g
3
L |2 S
o ) 8 £
- (=] 5 o
z
sxoen aredidnp H —
0 _ o
N o
£ H
E o S .
g .
2 H
E Co] 3¢
< H
E = =t
— = Freee o
- E Lo YW
TS 3 o Wo
- Lo . .
n_U L=E=e
. 3 = Ay o
o o
e EE R — . . o
1 BT
. . S HER B
. . . ! .
Lo o
1 1 1 1 1 1
N SN oY
[=} S o
- -
ST Syoel) e} oney
Q= 5]
€ ]
A mw\
[~ o
s ~
3
=} M
— © N o
s |8 =
[t} g
o
2
(=) 8 o
0 3
g S
=}
75 _
s g
i = o
| 3 IS
S | !
: ) ]
PP PP PP Y. 0 2 [ Q
Bk Y £ ¢ ? 8
o o 5 o
=1 - w.wv =] 2 =1 =]
bseH —
n o
N = o
£
Jo o
QL
= o
.ﬁd N
3
Jo )
S S
5 K
-{o
Jo o
.......................... o
o
e S h
T2
o
.......................... -{= 5| o
| @ N
o 5 )
N 8
PP T P o 2l Lo [ I3
N = K
5 B 3 3 S k) © 3 3
- - Ll o Z - - Ll (=}
syoeln oney syoeln oney

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


